n-pu-gum-qlun- “ and

MM""W"“!F‘_.‘M
in which & oBjects are connected 10 m objpc.

3

1. I draw a line 7cm long. My friend draws one
three times the length. How long is her line?

cm

2. Find the missing number.

8 x =24 | 7x = 28

x 3= 36 x 9= 72

3. I saved up £10. My mum gives me triple the
amount | save. How much money will I have
altogether?

£ "o‘mﬁi
1 - -

4. Find the missing number.

8 + = 8 44 + = 4

+ 4= 5 + 3= 9

manterthecw nodum co




Number:
Count up and down in tenths; recognese that tenths arise from
an okgect nto 10 equal parts and in divideng
one-digit numbers or quantities by 10

1. Fill in the missing numbers from the
number line.

2. Complete the sequence.

5 6 7
10,10 ,10 , _

3. What fraction is not shaded?

SHENERRERS

4, Which shows < shaded? Circle it.

10
[(TTTTITT] BT
B ITTTTTT]

5. Calculate the answer as a fraction.

8+ 10 = 3+10=

L e ]




Number:

Recognise, fnd and write froctions of a discrete set of objects: yuns
fractions and non- wnit fractions with small

Circle —;— of the set of objects below.

Circle B of the set of objects below.

L VAR Vo
b e T
Circle — of the people below.

4

What fraction of the set of objects are shaded?

ARARRLRR R

HATG Ik i‘\;’*




Number:

Recognise m:m,mﬂq&;gm,wpu with
srnall demaminatory

Is this an equivalent fraction?
Shade the rectangles to help you.

1 =3
2

4

yes |:| no |:|

2. Tick the boxes that are correct.

3 _ 2
& 4
1 _ 2
4 4

3. Is this an equivalent fraction? Shade the
rectangles to help you,

1 3

3 q




Number:

oMMl]orw_?’_#-;—-—’-l

Add and subtract fractions with the same denominator
is%
1. Calculate the answer,

2 5 -
s T 3

3 1.
3 3

2. Calculate the answer,

three ninths + four ninths =

nine tenths — three tenths =

3. Finish the calculation using drawings.

00 00 OO
00+9@-00

00

G [P |
& v T

00 OO0
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